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(2024-25) (TEST-5) Total Marks: 240
General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.
3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS (Q.No. 1 to 15)

1. Potential decrease in the direction of electric field
1) True
2) False
3) Some times true some times false

4) None of the above
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2. Due to positive charge, potential may be
1)+ ve
2) —ve
3) zero

4) all
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3. Which of the following is/are only no space?
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4. Regarding electric potential the change in kinetic
energy of charge to bring it from infinity to that
point, against electric force

1) +ve
2) —ve
3) zero

4)All
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5. Three point changes —q, +q, and -q are placed
along straight line at equal distance x between
them respectively Then electric potential energy
of this system of charges will be.
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6. ‘n’ number of charged sphere of radius r are
combine to form a bigger sphere, then its potential
bigger sphere will be (v- potential of each small

sphere)
1) n’v
2) n’v
1
3) 1’1% v
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charge
potential difference

7. The dimensional formula for
x Area is
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8. Find the correct relation between C and X.
2 a¢ A0 3¢
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If it is reduced to like next figure,
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1)C=X
2)3C=X
3)C>X
4)C<X
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9. ‘n’ number of identical capacitors are connected
as shown in figure, find its effective capacitance
of a capacitor (between A and B diagram missing
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A CC C |y

L
v 2C

2) [B*2]c

3) [=2|c

4 |=2—|c
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2) [E*+2]

3 [=2]c

4 |—2—|c

10. A battery of potential difference 20 V is
continuously connected to long time a capacitor,
then its electric potential and electric field are
respectively, [E - initial electric field) [K -
dielectic constant]

) 20V, E] 20V, 0]
3)[20 V, EK] D e g
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2) [0V, a ]

3)[20 V, E K]
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11. Capacitance of the capacitor if metal is placed
between the capacitor’s plates as shown in figure.
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A —>
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1)C'=C/2

2)C'=4C

3)C'=2C

4)C'=C/4
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1)C'=C2
2)C'=4C
3)C'=2C

4)C' = C/4

12. The potential difference is equal to
1) negative slope of v/r graph
2) Area of —E/r graph
3) Both

4) None of the above
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13. —Q and nQ charges are placed in ‘r’ distance apart
then at what distance from —Q, potential will be
zero between them?

1) [ﬁ]r

2) n—]ir_l

3) [n*+ 115

r
4) n+1
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14. The following graph of potential verses distance
from centre of sphere (r) is for

\Y%

1) Uniformly charged solid conducting sphere

2) Uniformly charged solid non-conducing
sphere

3) Uniformly charged  hollow  conducting
sphere

4) Uniformly charged hollow non conducting

sphere
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15. Find the correct relation

\—/OB

DE,=E ,and V, =V,
2)E,>E and V, <V,
3)E,<E,and V, >V,

4) never find the relation

FIWIMeoT OSMLTemLSH HvOTLM)5.
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1) E,=E, LOHMILD V.=V,
2)E,>E wmmo V, <V,
3)E, <E, womio V, >V,

4) siflwneor OBMLTemUL SHevor(BLIg&Hs Swieong)

CHEMISTRY (Q.No. 16 to 30)

16.

The best evidence that electrons are arranged in
definite orbits or energy levels is based on the
observation that

1) Atomic spectra consist of discrete lines and
not continuous bands

2) Electrons in the beta ray have high kinetic
energy

3) The penetrating power of cathode ray electrons
depends upon the voltage used to produce
them

4) Electrons revolve around the nucleus
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17. AE value is maximum in

1)E,~ E, = AE
2)E,~E,=AE
3)E,~E,=AE
4)E,~E,=AE

SpasetorL  uflomhpsHed erdled ihls uls AE
&y 2_aTeng)

1)E,~E, =AE
2)E,~E,=AE
3)E,~ E,=AE
4)E,~E,= AE

18. Which of the following is responsible to rule out
the existence of definite paths or trajectories of
electrons?

1) Pauli’s exclusion principle.
2) Heisenberg’s uncertainty principle.
3) Hund’s rule of maximum multiplicity.

4) Aufbau principle.
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19. The kinetic energy of the ejected electrons in
photoelectric effect is

1) Directly proportional to the frequency of the
incident radiation

2) Inversely proportional to the frequency of the
incident radiation

3) Not related to the frequency of the incident

radiation
4) All the above
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20. In photo electric effect, the energy photon striking
a metallic surface is 5.6 x 107"°J. The kinetic
energy of the ejected electrons is 12.0 x 10 =° J.
The work function is

1)6.4x10°]J
2)6.8x 10797
3)44x 10797
4)6.4x 10727



eafl et elemereiled 2 Gevns  Comuliemu
&G GumLmeofledr Spbmed 5.6 x 107'°J. G
eeueflggemerL(BLD eTeusLmenfledT SuisHs SHMmed
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1)6.4x 10

2)6.8x 1077

3)4.4 %1071

4)6.4x 10207

21. Which of the following sets of quantum numbers
represents the highest energy of an atom?

DHDn=3,I=1,m=1,s=+1/2
2)n=3,1=2,m=1,s=+1/2
3I)n=4,1=0,m=0,s=+1%
Hn=3,1=00m=0,s=+%
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Dn=3,1=1,m=1,s=+1/2
2)n=3,1=2,m=1,s=+1/2
I)In=4,1=0,m=0,s=+"%
Hn=3,1=00m=0,s=+1%

22. Choose the incorrect statement:

1) The shape of an atomic orbital depends upon
the azimuthal quantum number

2) The orientation of an atomic orbital depends
upon the magnetic quantum number

3) The energy of an electron in an atomic orbital
of multi-electron atom depends on principal
quantum number.

4) The number of degenerate atomic orbitals of
one type depends on the value of azimuthal
and magnetic quantum numbers
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eTevoTe00 1GH6ms  G&HMevor 2 h%  LOHMID
&MbGP (GH6UNEOTLLD 6T6v0TSH6fledr LodlliemuL
UTMISSSI

23. Which of the following statements on quantum
numbers is not correct?

1) Quantum numbers n, I, m and s are needed to
describe an electron in an atom completely.

2) Quantum numbers n, I, m and s are obtained
by solving the Schrodinger wave equation.

3) A subshell in an atom can be designated with
two quantum numbers n and 1.

4) The maximum value of | is equal to n - 1 and
that of m is £l
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24.

The frequency of a wave light is 1.0x10° sec™!.
The wave length for this wave is

1)3x 104 cm
2)3x10*cm
3)6x 104 cm
4) 6 x 10° cm

siemev Gaflufleor aigleleusvor. 1.0x10° sec”!. B
SiemeVUT60T SiemEVHEMLD

25.

1)3x 104 cm
2)3x10*cm
3)6x 10*cm
4) 6 x 10° cm

Calculate the de-Broglie wavelength for electrons
if its speed is 10> m/s?

1)0.72x107'8 m
2)7.20x 108 m
3)72.8x 108 m
4)728. 108 m

eTeusL_edTHerfledr Geusmsld 10° m/s erevfled Dbs
S1emevuledT SiemevIHELD

1)0.72x10"% m
2)7.20x 108 m
3)72.8x 108 m
4)728. x10* m

26. Which one of the following conditions is incorrect

for a well-behaved wave function( )
1) y must be finite

2) v must be single valued

3) y must be infinite

4) y must be continuous

Siemev EMIUsSS (V) WedTeupdo HlLbHementsarfled
618 SHEUDTEOTE.

27.

1) v suedIWNISSLILILL STH SH&He Geuevor(bLd
2) y @nemm wHllLngs Smes Geuevor(BLD
3) y erebemaummaNd ShHs Geuetor(BLD

4) y egnLigdwns més Geuevor(BLo

The kinetic energy of electron is 3.0 x10*J. The
wave length of the electron is

1) 7965A°
2) 4625A0
3) 91A°

4) 8967A"

eTev&Lmeofleor uwiss Symmed 3.0 x107 J. erevfled
eTeu&L_evfledr Siemevifentd

28.

1) 7965A°
2) 4625A0
3) 91A°

4) 8967A

In an atom, an electron is moving with a speed
of 600m/s with an accuracy of 0.005% certainty
with which the position of the electron can be
located is

[h=6.6x10Js, m=9.1x 10°' kg]
1) 1.52 x 10 m
2)5.1x 10° m
3)1.92 x 10° m
4)3.84x 103 m



Qm ool @ eeslaner 600 /el
Geusddledb 0.005% &lELOWSFHIL 60T HBTHDE),
eteofled  eTeudLnevfleor  Hlemevuled  eHUBLD
FEFWIOMHM SHE0TEmLD

[h=6.6x10Js, m=9.1x 10 kg]
1)1.52 x 104 m

2)5.1%10° m

3)1.92x 103 m

4)3.84x 103 m

29. The ionization energy of H atom is x kJ. The
energy required for the electron to jump from
n =2 to n =3 will be:

1) 5x

2) 36x/5
3) 5x/36
4) 9x/4

H-sieoniefleor  swesflwnés@o  gpomed X k.
eTeL&LIMENT N = 2 6BHEl N=3 && HTEYUSDES
GaemeuwinenT Symmed

1) 5x

2) 36x/5
3) 5x/36
4) 9x/4

30. Consider the following statements:

1) Electron density in XY plane in 3dx2_y2 orbital is
Zero

2) Electron density in XY plane in 3dz? orbital is zero

3) 2s orbital has only one spherical node

4) For 2pz orbital YZ is the nodal plane

The correct statements are:
1)2and 3 2)1,2,3,4

3) Only 2 H1&3

LledTeUIBLD HnMHMISHEM6NTS &H6U6uTILrRISH6IT
1) 3dx2_y2 STILLTe0eD XY SensdleverevsL mmeufleor
LTSS Lhedeflwib
2) 3dz* gpillLnelled XY sensdleverevsLmmentleor
LTSS L, eflwid
3) 2s Sy LmeSled 6H GBHTL6D H6MD 2_6ieng)
4) 2pz M LmeSled YZ GBirLed 6 2_6Tens)
SIIWLINEDT Sn MHMIGHET :
1) 2 and 3
2)1,2and 3
3)2
4)1&3

BOTANY (Q.No. 31 to 45)

31. Absence of endothecium in Cleistogamous
flower lead into

1) Dehiscence of anther will be affected
2) Dehiscence of anther is not affected
3) Pollination will be affected

4) Development of tapetum will be affected

cpiqul  eflemaseneurrhisefled  eresorGLIHFwiD
Bebeumoeh SHLILFTeL erMLBLD eXlemarey
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4) LA L &6t eueni&dl undlsasiLBEna)

32. Find out the parts of the given picture:
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1)a-Egg, b-Central cell, c-Polar nuclei,

d-Synergids, e-Filiform apparatus

2) a-Polarnuclei, b-Central cell, c-Egg, d-Filiform
apparatus, e- synergids

3) a-Synergids, b-Central cell, c-Polar nuclei,
d-Egg, e-Filiform apparatus

4) a-Polar nuclei, b-Central cell, c-Synergids,
d-Egg, e-Filiform apparatus

QBN(BSSLILL(BeTer LLSHleD ©_6Tem LINakisemnens
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2) a-gl(mey 2 L &(h, b-emlow 61§60, c—(WL 6oL,
d-meSlemip &nsevrid, e—dleoTT el get

3) a-dleoTI gl &6, b-emowl €&, C—&I(H6Y
2 L &b, d-(WpLemL, e-HIedSlemlp SM5He0rD
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&&H60TLD

33. Pollination in water hyacinth by
1) Insect

2) Wind

3) Insect or Wind

4) Water

The flowers emerge above the level of water, so it
pollinated by either insect or wind.
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1) L&

2) snom)

3) 541 Si6DeVs SHMHM)

4) B

34. Adaptations of Pollen grain for hydrophily

1. It should be long, ribbon like structure

ii. Pollens are many, heavy in weight

iii. Protected from wetting by mucilagious covering

iv. It may have flagella to swim actively to reach
stigma.

1) (i) and (iii) only

2) (i1) and (iv) only

3) (i) and (iv) only

4) (ii) and (iii) only
BiLanhssEaisemae OFLID L&HIHSSHESS6r60T
SH&6UMLOLIL|

i. Qemey  Hemonsd  wHMID  Qemev  Gunedtm

SiemLOLILN6mETTS 618 ME00TL &)

i. 215ls  waOhhIGemeMUD, AHlE  eTemLUWLD
C1&ITE0OTL &)l.
iii. BpFACEY 2 emmufeotmed  FrILOTEUSEOIHHS)

LN&IST&SEDE)

V. @6l emi Bihd) OFTNEmLIL HenFUNCHLPSHEI
QMM ESE0MD

1) (i) wdmud (ji) 1oL Bib

2) (i) oHmID (iv) LG
3) (i) oHmud (iv) LB
4) (i) wmbmyb (i) 101" Bib



35. Find out the number of wrong statements

i. Self-incompatibility means preventing the
germination of pollen within the same flower, force
the flower to receive pollen from other flower of
same species.

ii. Dioecious condition prevents both autogamy, and
geitonogamy

iii. In herkogamy self pollination is possible because
both stamen and pistil located closely with other

iv. Sometimes in dichogamy, stamen and stigma
will mature at the same time will lead into self
pollination

v. Pollen contain 2 male gamete at the time it reach
the ovule

1) 4 2)3
3)5 41
SEUDMEOT  FnMMISHET60T  6T600TE00(1560&HSHEM6NE

&600TLMLIEYLD

i. HEOT-EQEUEUTSHSHETEMLD 6T60TLE| QCT LOEVIHSHEEIT
LEOHID (PEMETHHMOS  SHBLLSEOT  CLPEVLD
SOOI  SLLMUWIONS  L&OhdHHlemerr B
fnnfleorsemas Ganby Geuemneh eoflld 6L
eULfleUEmS QFILIEUSTSLD.

ii. QEHLITEL  FHTEUITRIGET  HEOT-LOSOHSFEETHe0S
wHMID CaIlLgCernGadl el BresorBEL
& B &SI SH0TD6DT.

ii. LImeimiiL H60flemLoLILI(B SHSH6L (wemmuied
L&EOHSHHTEBLD  FHUSWIQUD  SiHHHES
SIELOMHE|ET6ITEDT.

iv. &lev Gmrmiserfled Bmanewdlieied

LOBTHSSSTEBLD  EEUBUPIGID  (PHITEUEHL LD

GrIb eeoTmIL 60T &e0Tm GLoHeLIMBHSHILELITS)
SHEOT-LOSHNHHFEFTHMHHE FTSHHLOMEDE

V. @60lemenT SiemLWOELING &OHSHSSHIS6 D 2

o600 GHLOLBH6T EYHHSLD

1)4 2)3

3)5 41
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36. Statement [: Pollen tube enter into ovule through
one of the synergids

Statement II: Transmitting tissues of the style
controlling the incompatibility of pollen tube

Statement III: Male gamete may fuse with only
haploid nuclei of embryosac.

1) Statements I and II are correct, Statement III
is incorrect

2) Statements I and III are Correct, Statement II
is incorrect

3) Statements II and III are correct, Statement [
is incorrect

4) Statement I is correct, Statements II and III are
incorrect

gapm |: wenbssGLnlL aCGsenid @I FerTgil
QUAILING Ge0N&S6T HIeDLPSHME

gpm I Geosssetoigetr 2aBHELSHID o
EIHSHGSPMUNEOT  HEOT-EEUEUT  SHEOTEMLOEDIS
L BLLGSSADS.

gamml ll: opevor GaSl SpLeHLUNSIT EIBLOWI
2 L smGaun(® LB Semevond

1) sapmiser | wmmd I &fl womid smmomy
SHeum)

2) sapmiset | womid Nl sifl wHMID sammy |l
Selm|

3) eapmiser || wmmid Il &fl wHMID smmm) |
SHeum)|

4) sapmiser | sifl HmID sapmiseT Il LoHmD
Il s6um)

37. Assertion(A): The embryo develops from the

micropylar end of the embryosac

Reason(R): The zygote divides by the transverse
division forming terminal cell and basal cell.

1) Both (A) and (R) are correct, (R) is the correct
explanation of A

2) Both (A) and (R) are correct, (R) is not the
correct explanation of A

3) (A) is correct but (R) is wrong
4) (A) is wrong but (R) is correct



SammI(A): SBLeDLUTET (G056  LiGSlulled
S(HOVENTEFS [HemL LMD

&MIevord(R): BHIPLEML GSMISESeUTHS LGLLDM)
Gloevaged LMHMID Sp CFMEVS SHHDE

1) 8adm WOMID &NTevold &ifl, &MIevorDd
2N 19)10)11 15} Frflwimeor eNlené & & 6meoTd
SHSDE)

2) sahm WLOMID &SMTevold &ifl, &MyevoIDd
&gong  gflwmeor  elendssHHleneond
Frelevemev

3) eamm) &ifl LLHMID SMTETOID Heum)
4) M| SeuUm| LHMILD SMTETOID &ifl

38. Find out type of pollinating agent based on the
following flower characters

1. Flowers open after dusk
2. Flowers produce large quantities of nectar
3. Flowers may arise from the trunk or branches
4. Flowers located away from the leaves.
1) Cheiropterophily
2) Ornithophily
3) Phalaenophily
4) Psychophily

Lo6VIfl60T LI6TOTL| & 61T Silq LILIemL_U6L Lo BIThSHEFB T Hema
(PHEUMTEH HEOOTL1)1e:

1. eI &6 SihH CrIHHeL LELIHLD
2. LTSH6T P& SieTeled LLHEHEME0TE SIHGSLD

3. DEVT&6T EMOWISHHE00T(B SieLeVG SHlemenserfled
SHT60OTLILIL 6VITLD

4. weuisHem emevserfledimhal elevd S mHsELD
1) Gl6u6TEUMEL LOBITHHFEFTHeWS
2) Umemel L&HNHHFBFTHEmS
3) sibgILIL, & &NHSFCETHEmE

4) eueTTE0uTHGILILL S LDSNTHSEEHTHemS
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39. Which type(s) of endosperm has cell wall
formation?

1) Nuclear Endosperm
2) Nuclear Endosperm and Cellular endosperm
3) Helobial Endosperm and Cellular endosperm

4) Helobial Endosperm only

6THS CUEDSIITET SH([HEW,600T FHlaedled 61§60 &reurT
9 _(HeUNH6L &HTevorLi(BLD?

1) 2 La@HeNT S(HeY,600TSHI8

2) 2 Ls@meml &(HeW,e00rHls LoMMID CF60S T
&([H6),600T S\ &

3) eGeomilw &[HeY,e0oTHS LHMID ClFELSTIT
&([H6Y,600T S8t

4) eGeomilw &[Hey, 600 oL (BLD

40. ‘Some of the nucellar cells surrounding the

embryo sac start dividing, protrude into the
embryo sac and develop into the embryos’. Best
examples for the given statement

1) Citrus and Mangifera
2) Citrus and Apple

3) Citrus and Pineapple
4) Apple and pineapple

'BBLIDLEDI G PhHEI6Ten @ e0dlaeie 2_eer dlev
01F60&6T LIGLILDLIHE SH(HLIeDLISE6TEaT 2ar(BrHeN
H(HEUNS ensnfréélquml_épa‘ﬂstme' OL¥:2819)15)1916)
dnbs aTBSHEISHTL(BS6T

1) FLg6iv LOHMID LOMEHS>6I1LITT
2) # gev HMID Spundler
3) dmerv oHMID evLIeOTSLILT6T

4) gldle HMID LTSI 6T



41. Pollinia are attached to a clamp like sticky
structure called

1) retinaculum
2) translator
3) gynostegium

4) corpusculum

ewmeSlevflwirtiserfled Q&M&HEH
&L (BLOSHE0TEMLOW|EWL LI SI6WLOLIL

eugelgvierer

1) OTLLQ.60TIT(&6VLD
2) 1qomerGevL LT
3) em&GevTmevie i
4) SMIL6VE6ULD
42. Function of filiform apparatus is to
1) recognise the suitable pollen at stigma
2) stimulate division of generative cell
3) Produce nectar

4) guide the entry of pollen tube

meSlemipuiled sngHe0TSHHl60r Lisvof]
1) @6UWIY HSHS LSIHSSIH 6ME0TS LiGSSIISH60

2) 2 Heunss 2L smedleor

SIT60oT(BSH6EL

U@L emenT s

3) YHGHemeT 2_MLSHF] QLG

4) &OHSHS
UL 51560

SLPMmL 2 _6THIMLPSEM6)

43. In majority of angiosperms
1) Egg has a filiform apparatus
2) There are numerous antipodal cells

3) Reduction division occurs in the megaspore
mother cells

4) A small central cell is present in that embryo
sac
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GILITBLDLIMEVTEDT ShEehdGImevEILITLDSH 660

1) (WL 6mL HITedlemLp F&H60THP6m60TLI
OUDHMHEBESLD
2) V& a1 sHLomeot eTHlmiq QF6LSHEIT
6B M600TLY.(HSHGLD

3) eumedss Sl 61§60 G6eoTmey LIGLIL
HEDL LMD

4) smUenUuied Fnlw emlowl 61560 &mevoTLIL(BLD

44. In angiosperm, the haploid, diploid, and triploid
structures of a fertilized embryo sac sequentially

are

1) Antipodals, synergids, and primary endosperm
nucleus

2) Synergids, Primary endosperm nucleus and
zygote

3) Synergids, antipodals, and polar nuclei

4) Synergids, zygote and primary endosperm
nucleus

SHehFCWImevEILTLOe),  SHEYDD  SHHLIEHLIULT6D
@nhemmowl, SrlemLowl, (DWWl  eFe0&erfleoT
auflend

1) erdlog 66T, FleoTTILseT
(PSHELIBlEMEV S(HEY,E00T 2 L &(H

LOMHMILD
2) dleoTT I &6, (LPSHELIFIEM6V &([HEU,6T0T 2L &(TH
LHMID enFGEHTL

3) dleori I &elT, 6TlMg QFeLSH6T LMHMID SITHEY
2 L&

4) feoT LI &6M, mEESHML LoMHMID (PSHEVIHlEm6V
&([HEW,600T 2L &([H

45. Diadelphous stamen are found in
1) China rose and citrus

2) China rose

3) Citrus

4) Pea



B[ sHemM L&HIHSHSHSNET SHMevoTLL(BLD SHTEUTLD
1) Q&LHSE) LOOHMID ETEILSIGFEDE
2) eFUmSHS
3) erQIdFemE

4) uLLnevofl

ZOOLOGY (Q.No. 46 to 60)

46. Assertion (A) : Bats and whales are classified as

mammals.

Reason(R):Batsand whales have four-chambered
heart

1) Both A and R are true, R is the correct
explanation of A

2) Both A and R are true, but R is not the correct
explanation of A

3) Ais true, R is false
4) Both A and R are false

gapml  (A) 6UGUEUTEVSHEHLD  HlLOIRISEV(LOLD

LITERTL LG &6TTELD.

&MT6ooiDd (R) : O6UETEUTELEEHGELD HIOTRISHESHSINELD
4 SIEMMS6IITED 60T @SLID ST ILIBHDS).

1) SaDm) LOHMID SHMTevoTD &ifl, GLOGYID SMTEvoTD
nmnileor Fflwimeor 6Xlem&HaBLOMEGLD.

2) &n. DM LOHMILD SMT6TOTLD &Ifl S} 60TTEV SHMTE0OTLD
FLpMIn@ SFflwneor eflensso eLemen

3) &nhm) &1fl SeoTMeL SHMTETOID HeUm)
4) samm)| LHMID Snrevoid Srevor GG Heum)

47. Which of the following statements is true about

protostomes?
1) The blastopore becomes the anus.
2) They exhibit radial, indeterminate cleavage.

3)It  includes subdivision

Enterocoelomata.

only  one

4) The mouth forms from the blastopore.
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WetteuapeueoTeummied  LGIMLGLmervGLMD&6meNL
UMM 2_600T6mLD Sn DM 6787

1) BHSCHMET HIEW6IT LOEVSHFIEW6T SHEMS)

2) Semeu ) LoHMILD 2_miFlwimm
HereXllieILith&Hemev GleuarILILI(BSSHeTmE.

3) @dled eretniqCunEGeNGUL LN eTenyd GT
glemevorLiflifley L (B> &nevorlILBEDE.

4) &smsCamern YT

2 _(Heun&mg)

glenemuledmbs)

48. Which of the following is a main characteristic

feature of all arthropods?

1) Closed circulatory system
2) Chitinous exoskeleton

3) Vertebral column

4) Endoskeleton

HleoreupeuetTauDDle)  SHeun)SHSHMeSH6 6T  (LPSHEIL
LI6OOTL| 67857

1) g &HEOITLL SiemLoLi
2) 6m&L1q60TTEVME0T LMEFL L SHLD
3) WPHIOBQIDLS EBTLIT

4) SBFFLLSLD

49. Which of the following types of symmetry is

characterized by body parts arranged around a
central axis?

1) Bilateral symmetry
2) Radial symmetry

3) Asymmetry

4) Spherical symmetry



NedTeUIHID  6TThG  6UEMSBWINET  FIOEET, 6WLOW
FMEF GHM SMOSHSBLILLL. 2 _L 6D LITHRIBETTED
U SLILB HSLILBEDEI?

1) @pubs S&FST
2) YI&EEET

3) s&FFTHMEmEU
4) Gamen s&ST

50. Which of'the following is a defining characteristic

of salamanders?

1) Dry and scaly skin

2) Lungs and gills throughout their lives
3) Moist and smooth skin

4) Ecdysis takes place

etTeuheuetTEUDIIED  FMEULD6TOTL T SH6EIfl60T (&I
LI6OOTL| 6T&)?

1) 2_ehd LHMID eFHledsermeomeor Gsmed

2) miemguiTed WLMHMID C1&6YETHEMET ECUMLPIHT6T
(PREUSID OUDIIHSS6V

3) FHILOM60T LOMMILD ELDEOTEMLOWIT60T BHiTed

4) Caneflesed HemLEILM)ISH6eD

51. Which organism is referred to as a living fossil?
1) Loligo

2) Ichthyophis

3) Physalia

4) Limulus

QUMD  Lj6MSLIG 6D
o _ufifleotid ergy?

1) eoneSiB &
2) @64 Gwinc.Lie

TN  SMLPSHSLILI(BLD

3) emugmedlwm

4) eS(eve6iv
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52. Which of the following does not come under the
class mammals?

1) Flying fox

2) Hedgehog

3) Manatee

4) Lamprey
SLp&H&S600TL 6UD M6, UGLIIDG6IT
Gennsg) e1&I?

LTeRTLLg

1) UD&SLD Ml
2) (eiT6lemed]
3) LomeuTIe 610
4) eombLIGy

53. What is the primary function of pneumatic bones

in birds?

1) To store fat

2) To produce sound
3) To reduce weight

4) To aid in digestion

LUmemeusarfled MMIOMIq& 6TepIDLS6ITl60T (LPSHEOTEmLD
ueoof:

1) esmglienu GsblgsHed
2) eeSleml 2 (HEUTSHEGSH6D
3) eTemL6emU GHEMMSHH6D

4) esflonesHNG 2 FH6H6D

54. Match the column - [ with Column - II and choose
the correct option.

Column — I Column —II
(P) | Contractile vacuole (1) | Asterias
(Q) | Water vascular system | (ii) | Amoeba
(R) | Canal system (i11) | Spongilla
(S) | Flame cells (iv) | Taenia




1) (P)-(iii), (Q)-(i1), (R)-(1), (S)-(iv)
2) (P)-(ii), (Q)-(1), (R)-(iii), (S)-(iv)
3) (P)-(iv), (Q)-(i1), (R)-(1), (S)-(iii)
4 (P)-(), (Q)-(iii), (R)-(ii), (S)-(iv)

siflwineor @emevotemis CHIHOSBSHEIL! OLMHSHIS

auflems — | auflems — Il
(P) | &@®HIGLD BTGB | (i) | gpevliflwien
(Q) | Bré@Lp6d wevorLeud | (i) | SwSum
(R) | ®meveumi oevorLevd | (i) | stoLmedTgdlebev
(S) | &LT e\FeL&6iT (iv) | eeoflwim

1) (P)-(iii), (Q)-(i1), (R)-(1), (S)-(iv)
2) (P)-(ii), (Q)-(1), (R)-(iii), (S)-(iv)
3) (P)-(iv), (Q)-(i1), (R)-(D), (S)-(iii)
4) (P)-(), (Q)-(iii), (R)-(ii), (S)-(iv)

55. Which of the following statements about

cartilaginous fishes is false?

1) Skin is tough and covered by dermal placoid
scales.

2) A bony endoskeleton and spindle-shaped body
are seen.

3) Respiration takes place through lamelliform
gills.

4) The caudal fin is heterocercal.

Sp&EBNENID & HMIs6TlED &IHSHESILDL| LBetTSH6me
UMM SEUDTET &nMm) 6187
1) Wemamii(B egdHlevaer Guni SFHLLLL
&lqeo1Lonent BHmed SHmevorliL(BH M.

2) BHT eugey 2 Lemeowd ergbLieoTmed
SSLLLL AHFFLLHD SHTvoTLILBHME.

3) 8emipauig el 61F6)6ITSHEMTED &6UNFLD
H6L OILMISDE.
4) DL IO &H&H60 eumeL&I(BLIY

&MevorlIL(BEMDE.

56. The preen gland is found in which organism?
1) Spiders
2) Snakes
3) Birds
4) Frogs

s o ulflorddHed  LNfeor &g

&nevorLIL(BGEMDEI?

(Preen)

1) flevb gl BHeiT
2) umbL&elt
3) UDEmEUEEIT

4) SHeUEmETHET

57. Identify the correct statements

(1) The respiratory pigments hemoglobin and
chlorocruorin are seen in annelids.

(i1) The larval stages, such as parenchymula and
amphiblastula, are seen in molluscans.

(ii1) Bioluminescence (the ability of a living organism
to emit light) is well marked in ctenophores.

(iv) Cnidarians exhibit two basic body forms: polyp
and medusa.

1) (i) and (iii)
2) (ii) and (iii)
3) (i), (iii) and (iv)
4) (i), (ii) and (iv)

SIflLIM6DT &nMHM)ISHEMET HEWMLUITEND SHTETOTEULD

(i) enfiGngGermiledr, wHmId &CemmGrm cmifleor
Gumedtm &eungd  FimldeT  edTeoTEd(BH6I 6D
&MeooTLIL(B &M El.

(if) LUMTEdTEMSH(LP6LIT,
LIBU6UEM S GO 6UMEEH6IT
SnevoTLIL(B& D&

(iii) 2_uiflserfleSiHiH&)
o_ulenmerflieed L6t
&neoorLIL(BEMDE.

Sy demmerveon  GumedTm
eLeLIL 69156ifled

&erfl 2 _([HeuUmGLD
le B0t BumT &e6rfled



(iv) umeSlt  (Polyp) wmmidb 6w@®sm (Medusa),
6TeoTLILI(BLD Bmevems © L 6VEmLOLIL|G6IT
HGLflwnsefled snevorliLGEDE)

1) (i) and (iii)
2) (i) and (ii)

3) (i), (iii) and (iv)
4) (i), (i) and (iv)

58. An Indian Hemichordate found in the Kurusadai

Islands in Tamil Nadu

1) Ptychodera flava

2) Branchiostoma lanceolatum
3) Doliolum denticulatum

4) Petromyzon marinus

SLOWDIBL 1q 60T & [HFDL Sealugdsefled
SneoorlL(BLD @hS SiemTHT6001SH6T

1) emLGamGLom NGemeum

2) UpnriallGwimero@GLLOm 6UMEdTEN616VL LD
3) GLmed@wmeud 6160119 &B6VLLLD

4) euLComemLoanedT LorfleoTern

59. In which of the following organisms statocysts

are found as a body balance organ?
1) Arthropods

2) Bony fishes

3) Birds

4) Amphibians
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fedTeu(HLD 6ThG o _udifleorraiserfled
enBLLBLndlenl (B a6 9 L6d gLorblemev
2 _mII&enTs SmevorLiLi(BeledTmeoT?

1) He00I&HSHME0S6T
2) eTeIbL| LOeOTE 6T
3) UDemEUSHGEIT

4) @meunpedlsar

60. Animal of which phylum have hooks and suckers

and are endoparasite on other animals
1) Platyhelminthes

2) Annelida

3) Aschelminthes

4) Arthropoda

Q&N&EHHEB, 2 MlEehdlHEHD  SHMTeTOTILL SH8n lq L
318 &L (hevoTevnfld 61&MevoTL efleurhidlenTs E1HMESS!
erg?

1) SLemLLI (&6

2) 6UEDETHEMELI L|(LpSHE6IT

3) 2_(HemeNLl L|(Lp5&E6T

4) &60)5&Me0&6T



